
●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●
●●

1 10 100 1000 10000

5
6

7
8

9
10

Run 1, Test

expected_conc

lo
g(

fi
)

●

●

●

●
●

●

●
●

●

●

●

●

●

●

●

●

●

●
●●

1 10 100 1000 10000

5
6

7
8

9
10

Run 1, Test

expected_conc
lo

g(
fi

)

**

*

*

LOQ

1 10 100 1000 10000

0.
0

0.
1

0.
2

0.
3

0.
4

estimate

va
ri

an
ce

 (1
 r

ep
lic

at
e)

total
if curve is perfectly known
if y is perfectly known

1 10 100 1000 10000

0
20

40
60

80
10

0

estimate

%
 C

V
 (1

 r
ep

lic
at

e)

LOQ


